05700-10 EEE RN RERH | T EKEHN A @ EH

7= miiEA

ME
Mo

g -
MEEE
it R F R,

BR:
wE T BRRERNE,

M4 -
05240
05241
05260
05885-01
05887-01
05888
05280
05891-01

© norelem www.norelem.com



05700-10 EEE RN RERH | T EKEHN A @ EH

05700-10-01000
05700-10-01600

M |
=
1 &2
o &
Lo |
N A | B1
i | At | B
L2
8]
S —=
- L o

05700-10-01000 120° 85° 80 700 1000 500 750

05700-10-01600 95° 75° 100 1200 1600 800 1000
05700-10-02400 100° 56° 150 1200 2400 800 1600
05700-10-04000 112° 61° 250 2000 4000 1400 3000

05700-10-01000 16 26 8 4 95 55| 276 | 9 5 | 44| 99,7 57 31 16,6 M5x40
05700-10-01600 12,7 27 |12 6 | 122 | 6,2 34 11 55|52 | 136 70 43 24,9 M6x50
05700-10-02400 19 349 |12 6 | 143 |83 | 468 |16 71|72 | 156 117,2 732 | 494 M8x63
05700-10-04000 31,8 | 492 (14 8 19 11 ] 672 |19 95| 8,7 | 229 139,5 90,3 | 63,5 M10x85

© norelem www.norelem.com



